TGTTWHES v Putney XI

Non-League League 2020, Putney CC, 20 July 2020 12:47

TGTTWHES won by 6 wickets

Batsman

A Young

T Madden
T Johnson
N Siddique
A Hyland

J Jarmola

P Milbourne
B Brook*

R Taylor

S Bonet

F Lynch
Extras
Total

FOW  Over
1-12 53

2-57 132
3-66 15.6
4-132 316
5-176 383

Batsman

A Young

T Johnson

N Siddique
T Madden
A Hyland

Bowler

A Spence
D Borger

T Cosgrove
C McKay

J McQuin
R Monk

L Ryan

A Monk

Batsman
C Hoar

J McQuin
T Hardy

L Ryan

T Cosgrove
C McKay
S Werrent
A Spence
R Monk*
A Monk
D Borger
Extras
Total

FOW  Over
1-67 83
2-77 94 C Hoar
3-98 173  THardy
4-164 244 L Ryan

Batsman
J McQuin

Bowler

B Brook

R Taylor

F Lynch

P Milbourne
A Young

A Hyland

T Madden

Putney XI

How Out

b Borger

¢ Cosgrove b A Monk
st Werren b McKay

¢ Borger b McKay

run out (McKay/Cosgrove)
not out

b Spence

run out (McKay)

not out

did not bat

did not bat

(b11,1b2, w15 nb 3)
7 wickets, 40 overs

FOW  Over
6-186 38.6
7-194 395

TGTTWHES

How Out

b Milbourne

¢ Bone b Lynch

b Milbourne

¢ Milbourne b Hyland
not out

not out

did not bat

did not bat

did not bat

did not bat

did not bat

(b8 b3 w15 nb2)
4 wickets, 29.4 overs

FOW  Over

Batsman
P Milbourne
B Brook
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Toss: TGTTWHES (Bowl)
Player of the Match: L Ryan

B M O0s 4s 6s S/R

17 20 14 0 4.2
101 122 83 5 0 356
19 33 13 3 0 789
9 10 4 0 0 778

72 83 40 10 0 889

20 35 8 3 01200
3 2 1 1 13333
3 6 2 0 0 333
1 0 0 0 01000

245 157 163 23 1

nb w 0s 4s 6s E/R
0 4 30 3 1] 5.1
1 2 27 3 0 43
0 1 24 1 0 24
1 3 15 5 0 70
1 0 18 2 0 38
0 1 16 0 0 25
0 0 15 5 0 63
0 0 18 4 0 48

B M O0s 4s 6s S/R

31 50 18 7 01097
23| 39| 13 3 0 913
33 35 28 1 0 242
45 58 23 9 11289
31 54 14 5 11226
17 20 10 2 0 765

180 129 104 27 2

nb w 0s 4s 6s E/R
1 2 12 6 0 88
0 6 13 4 0 93
0 0 26 4 0 43
0 0 26 3 0 35
1 0 19 5 0 54
0 0 3 3 1 120
0o o0 5 2 1 9.0
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